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T 54 W B NS B A RE e fth T 5
i T35 T KR — T H53—1
T A Rk 294 5H 25HML Rk 294 10H 13HET
A BERHIE S B DR A T
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R BRI B TR O AR & OB FER B FROT 77y MUUEIT O RGHE

w A B (M) T F fii # (M) HE RS %E ()
A% 111,686,040 103,413,000 (A) 8,273,040
At 4%E 115,491,960 106,937,000 (B) 8,554,960
ERGER 100,656,000 93,200,000 (C) 7,456,000
EHEASHE 104,085,000 (F) 96,375,000 (D) 7,710,000 (E)
e 3,429,000 3,175,000 254,000
(EHX) B) X (C)+A)=D) <K D) IFTFHIED - HHLLFUET>
(D) X0. 08=(E)
(D) + (E) = (F)




& THNEREBREN EREHMIE No. 1
RETZE EAT RETERR o
oy : — 1EiEEE
® H wmE T TINNT s g M B e | EIHEE WE
[EREZAR %
[ #ETHE 2V 76,844,635 = 79,798,529 2,953,894 FE%A
| EXGETHF = 4,136,418 = 4,136,418 0
IM| el T4 =X 1,360,895 Y 1,360,895 0
[ERCAR: 82,341,948 85,295,842 2,953,894 H4%H
SiSTE
[| sk = 3,791,904 = 3,874,175 82,271 HA%A
| BUGE e = 7,887,021 = 8,065,123 178,102 Ha%H
— X B = 9,392,684 = 9,702,780 310,096 HA%A
B TE 21,071,609 21,642,078 570,469 H4%A
&t 103,413,557 106,937,920 3,524,363 | HA%H
Xt eKE (T3 mg) SREEST 11U e 103,413,000 106,937,000 3,524,000 BE%H
THE RS Y%A 8,273,040 8,554,960 281,920 H4%H
WA (=) 111,686,040 115,491,960 3,805,920 H4%H




% W FENEREEBRNEREM TS No. 2

B EEL ] BHEEL o

= L & = 34 11 3- ié;i =
® H wmoO= g | HE B &8 g HE B sg | EOVERE WF

I [BEIE

A1 |Esb- IR A R EPKSE T % 1 K 20,287,594 1 K 20,986,339 698,745 H4%H
A2 | AhEE R FRIKSE TF 1 K 30,192,217 1 = 32,213,600 2,021,383 | H4%H
A3 |RERE FMEE-BhKSE T8 1 K 10,412,882 1 X 10,624,648 211,766 HI%E
A4 |ER = - FR R NS s T 1 K 6,149,574 1 =X 6,160,574 11,000 H4%H
AD | TR - SRR e R s T 1 K 9,802,368 1 K 9,813,368 11,000 H4%H
A& 76,844,635 79,798,529 2,953,804 | HA%A




% W FHNEFREERNEREMTE No. 3

B H BB | oy wm owE sm | mE wm o owm | s | EOMWE W3
Al |EEKE-BYBT 8- BEHKSEIS
1 (B R LHF 1 K 4,867,311 1 3 4,867,311 0
2 [EEESETE 1 K 360,404 1 K 360,404 0
3 PMEESE T 1 K 3,669,023 1 K 4,261,923 592,900 H4%H
4 |BhikeE T 1 K 7,755,294 1 K 7,833,194 77,900 H9%H
5 |BEdE T 1 K 767,674 1 3 767,674 0
6 |ZoMmITHE 1 K 1,694,608 1 K 1,694,608 0
7T |k 1 K 1,173,280 1 K 1,201,225 27,945 4%
20,287,594 20,986,339 698,745 %




2 W IEHNEREBBNERESHhIE No. 4
RETZE EAT RETERR o
= L [t = 3 L 3 ié;i -~
# H wmE g B B s g B B o | EUEEE W
A 2 |8ERE B BEBHIKREIE
1 |[EERGETE 1 X 9,337,370 1 XK 9,337,370 0
2 |BEE%KETLE 1 = 864,068 1 = 864,068 0
3 |SEELE T E 1 X 6,600,960 1 = 8,816,288 2,215,328 | HA%H
4 Bkl LS 1 K 8,778,338 1 = 8,865,129 86,791 tE%E
5 |BEEETHE 1 =X 680,704 1 XK 680,704 0
6 |Fofh T3 1 = 1,521,876 1 = 1,501,945 -19,931 JHi%E
7 |wEons 1 = 2,408,901 1 XK 2,148,096 -260,805 JEi%E
&t 30,192,217 32,213,600 2,021,383 | HA4%H




% W FHNEFREERNEREMTE No. 5

= W B ESET L MEEER £o)mEE 5=

b
feln

felo

B fr B ffi ook 24 L Efff =48
A 3 |IAEEE 4MEE - BIKSIETE

1 (B R LHF 1 K 2,726,091 1 3 2,726,091 0
2 [EEESETE 1 K 1,254,658 1 K 1,254,658 0
3 PMEESE T 1 K 2,021,090 1 K 2,221,306 200,216 Ha%H
4 |BhikeE T 1 K 2,087,995 1 K 2,087,995 0
5 |BEgET=H 1 K 1,261,057 1 1,261,057 0
6 [ZFofthTH 1 K 800,563 1 K 812,113 11,550 Ha%A
7T |k 1 K 261,428 1 3L 261,428 0

e 10,412,882 10,624,648 211,766 H4%8




2 W IEHNEREBBNERESHhIE No. 6
RETZE EAT RETERR o
: 8 b1=H
# H wmE g B B s g B B o | EUEEE W
A 4 |BHE - BHERENLEREIE
1 |[EERGETE 1 X 222,693 1 XK 222,693 0
2 |[BEUELE 1 K 303,712 1 = 303,712 0
3 |NEKETHE 1 3K 236,590 1 XK 236,590 0
4 |BEXMEILE 1 K 385,772 1 = 385,772 0
5 |FofT=H 1 X 4,707,732 1 = 4,718,732 11,000 H2%H
6 |-y 1 = 293,075 1 = 293,075 0
&t 6,149,574 6,160,574 11,000 | H4%H




2 W IEHNEREBBNERESHhIE No. 7
RETZE EAT RETERR o
R . 1R &E
# H wmE g B B s g B B o | EUEEE W
A5 |RERE - RENEBENEREIS
1 |[EERGETE 1 X 224,839 1 =X 224,839 0
2 |[BEUELE 1 = 1,428 1 = 1,428 0
3 |NEKETHE 1 X 540,043 1 XK 540,043 0
4 |BEXMEILE 1 K 308,179 1 =K 308,179 0
5 |FofT=H 1 X 8,342,488 1 = 8,353,488 11,000 H2%H
6 |- 1 =& 385,391 1 = 385,391 0
&t 9,802,368 9,813,368 11,000 | H4%H




% W FHNEFREERNEREMTE No. 8

B B BB | oy wm o owE sm | mE wm o owm s | EOAE W3
I |EREREIE
1 |E PR JEVER T A e T 1 K 51,596 1 3 51,596 0
2 |EEEEE FRRLSR - (RS T 1 =X 999,748 1 X 999,748 0
3 | FEERNSE - R s TH 1 =K 2,775,317 1 K 2,775,317 0
4 [EEPR SMRESUE TH 1 KX 225,843 1 K 225,843 0
5 |AERE SMEE-[EEBLE T E 1 3L 83,914 1 K 83,914 0

&t 4,136,418 4,136,418 0




2 FR EFNEREEENEREh IS No. 9
TEER TEEE —
® H "= BE  HE S &% B EE SE 1 | SOERE RS
| |ems - gumTaRSETS
1) |[FEATER = 51,596 = 51,596 0
AF 51,596 51,596 0




2 W IEHNEREBBNERESHhIE No. 10
RETZE EAT RETERR s
= L [r=r = 3 L 3 ié;i -~
# H wmE g B B s g B B o | EUEEE W
2 |EEfE BEHE - EZHFEMBIS

1) |EBITE 1 K 416,290 1 =X 416,290 0
2) |zt 1 =& 473,921 1 = 473,921 0
3)  |HENIE RS R 1 =X 19,613 1 XK 19,613 0
4) |1ERFREE 1 = 10,101 1 = 10,101 0
5) LA 1 X 24,985 1 =X 24,985 0
6) [FLEHFESZAFH 1 = 7,288 1 = 7,288 0
T KSR 1 K 13,050 1 =X 13,050 0
8) | PR R fid 1 = 34,500 1 = 34,500 0
&t 999,748 999,748 0




& FENEREEGNEREMTSE No. 11
B H W= ¥ THE] i | & g mn o Bp | e | EOERE B3
3 |EER FEME - £HEREIE

1) [ EZ 1 KX 1,052,110 1 K 1,052,110 0

2) |EATEER AR 1 K 665,200 1 3 665,200 0

3) | FELTERH 1 K 392,808 1 K 392,808 0

4) |zt iRt 1 3L 554,772 1 K 554,772 0

5) |HEPVIE Has (5 R I 1 KX 12,203 1 K 12,203 0

6) |fHEmE R 1 K 10,101 1 3L 10,101 0

DR E/SEE T 1 KX 24,985 1 K 24,985 0

8) |TLEH[ESAE R 1 K 15,588 1 3 15,588 0

9) | K IEHRENE A 1 KX 13,050 1 K 13,050 0

10) [ BAAs i w% i 1 KX 34,500 1 K 34,500 0
&t 2,775,317 2,775,317 0




% IEHNEREBBNERESHhIE No. 12
RETZE EAT REEFR a3
® H "= g B B s g B B o | EUEEE W
4 |EEE SEREIE

1) | &R 1 = 75,564 1 = 75,564 0
2) |1HHRERE 1 =X 34,310 1 XK 34,310 0
3)  |YEFE A 1 = 72,380 1 = 72,380 0
4) |ITVER{H 1 =® 42,100 1 =X 42,100 0
5) |FFE iR 1 = 1,489 1= 1,489 0

&t 225,843 225,843 0




% W IEHNEREBBNERESHhIE No. 13
REtEER REtEHEE a3t
# H T Y AT S5 g mE BE o | EUEEE W
5 |FAEEE sEREIE
1) | &R = 78,714 = 78,714 0
2)  |WEAE A E2V 5,200 = 5,200 0
&t 83,914 83,914 0




& FHNEFREEFNERERT S No. 14
B B B E | us g B aE B wn sm  ew | EOMME 63
I |#HmERE LTS
M1 |ERRL = - BB e = e T 2V 704,845 K 704,845 0
M2 |FRERESE T 5 2V 656,050 BV 656,050 0
=i 1,360,895 1,360,895 0




% W FHNEFREERNEREMTE No. 15

B B BB | oy wm owE sm | mE wm o owm | s | EOMWE W3

I (#WERiEISE

M1 |BRRb = - BRRL (R == e T

1 |fa7KEn L= 1 K 189,900 1 K 189,900 0

2 |HEKEAE L= 1 K 91,710 1 3 91,710 0

3 |fataxdi L2 1 KX 34,400 1 K 34,400 0

4 | ARAE L 1 K 372,335 1 X 372,335 0

5 |k 1 KX 16,500 1 K 16,500 0

&t 704,845 704,845 0




2 W IEHNEREBBNERESHhIE No. 16
RETZE EAT RETERR et
# H "= g B B s g B B o | EUEEE W

I (BEWEEIS

M2 |FRERtESE TF

1 |FEKE R L 1 X 275,860 1 = 275,860 0

2 |HEKERE T2 1 K 138,040 1 =X 138,040 0

3 |kaGEklE T 1 &K 34,400 1 = 34,400 0

4 | TARMWETEHE 1 K 186,850 1 =X 186,850 0

5 |[#ETEF 1 = 20,900 1 = 20,900 0

&t 656,050 656,050 0




